<5 O-N-w®

fRfERIR ] B
2024

BEIARNEIETI AT R

—_ YOU AROUND THE CNC TOOL EXPERTS




2252024

CNC TOOL ONE-STOP PROCUREMENT

CNCTOOL

Please enter your headline Please enter your headlinePlease enter your hedlinePlease enter your headline Please enter your headlinePlease enter your headlinePlease enter your headline P
lease enter your headlinePlease enter your headlinePlease enter your headline Please enter your headlinePlease enter your headline

Please enter your headline Please enter your headlinePlease enter your hedlinePlease enter your headline Please enter your headlinePlease enter your headline

Please enter your headline Please enter your headlinePlease enter your he

adlinePlease enter your headline Please enter your headlinePlease enter your headlinePlease enter your headline

i B AAUE R 5k

It will make your machine more efficient.




NUMERICAL CONTROL TOOL

AREN
COMPANY INTRODUCTION

WWARREREBIZTIEBR AT AL T20095F, LEFIUAREFTHKEFARX, B—RELEFPRIHHIZT]
Al . 25K, MER—BEZ I TREHEDAE=RNMLIGITME~FNE, EE~HEBEHSK/BBT/BT/ISO/SK/NT
EERBEHIZTIWAY, ER/SKESEER X, Bt & /S 7T/ &Rt/ E KT, eI T B RN T RO BB~ &
E . MIER ™~ RRAERTEGB. EFRiRAISOEEFEDIN. EEREANSI BEREIISERBTE, = Mg xR
FPro/Engineer/.UG.AutoCAD. SolidWorkZ& & it #, BT &A1&t 61iE, R A LU T HE T . JEREUT
TIEETARIA o

“MREF TR BRRUERBIETNEMNEVESR, IthEE 7] ERRF LEE FEIN M EREREETI AN
BR,MEHEEWN~RRENTEERBEINSNMIRIOP, RAISO001EMREEBERTIRESKT, AFE
HXRALTHMERPEFEERR, BGo MR . EF- HETEXTHNERREBEH MR, hEFRERESHL
DRSS AB %A H TRt EYSSTUDER. I EKELLENBERGEREMAR SR ERNIIEE S ELRK, HAE £
TSUGAMIEFEEERK, BAR WIS ILIEMAZAK/ B A KPROKUMABEZE EH#E S RS ILEMAZAKE MM TH O EF G
MMITi&&E.51# B A =FMitutoyo=#45, BA=FEMitutoyo =R I, =FEMitutoyo B E(Y, =FEMitutoyo
MRS E R, EEH EDiebold NFHEER R, BEBERHAIMERE F &, EEZOLLERE #3T TN F & im 1 MY
B RBEFMEME# OB RIRERERNARREN FTER SN, SIHERELHALIERS, BRCVERERTZ
MIE, NTRIET = mMREM  EREIE T ARE —STEERSET AT IHREERKR20SFRIEENT IR
ANEEEN, HPRARTIETIRIT3E, TR TIETRIN8E, sEME FE# hE PR MR A . KIS B T 7] B[R BT 1
BEEMHHEERM, EB RN EMNEEEFNEREEFR M, ARMAUERENEREME, RIFE %R &M &%
FRMN, IR RSLRAE, HththX3-4XF 5, EBE -~ R M EE A F AR, RIEN R BRIER™ M
FEHARMN . EE.BAM BT . EE. X HEORAF T FLIO0SMERMMX, EAZ MK 56/3CAEMOS
E.IRENMCHERFTULRFRINZMNNAE, RS TEFAN—BF L. AREATEEB L L EARLUARRIER BT
TERRABRFRIDERIINEF KIS, EBAFLERE,



EASXWE
LEADERSHIP CONCERN

WHREEERRE Mg F T BE ST BT K8 % E 5 KE
THE GOVERNOR CAME TO VISIT OUR FACTORY

CLYNS
OFFICE CORNER




BEmR2
EXHIBITION PHOTOS

/T = il — =
e
O'N-W esilimn® |




=i #t H HF 2

dOHSYHdOM NOILDNAOodd

gl
4

INIWNdINO3 ONILSIL

;

AAR=E= LRI 1: 10#EERNTAEE (ZFEHBIHELR)
Mitutoyo Coordinate Measuring Machine Picture of :1:10 taper inspection tool

(German Daibo collet chuck inspection tool)

BASEHEREN B A 2

Japanese Mitutoyo Round Test Machine Electric Spindle Test Machines




e X PO
WAREHOUSE DISTRIBUTION CENTER

1 2F
PACKAGING




< 0-N-w ®

S E i CONTENT

-FARRRIRIIE DAMPING TOOLS

B.ﬂ.
HU




DAMPING TOOLS

fRfE iR iR J] R 2 51

ALINT Sk NEZFIEESS



®
JE/E i 17 77 8 <5 O-N-W

-THRRIRIERZETIHF DAMPING TURNING TOOL HOLDER

>

o
>
=
=
=
[}
-
o
o
=
n

2]
=
i
1=
7
=1

_ 1 b
- B <DCON1
) - 1 ¢
CNT
LF
f T
d -DCON1
U L
LF

JIFERE REMER bET IS
DCONT1 DCON CARTRIDGE

SD16-C16-156V 16 16 156 G1/8.. 7 SD16 1 0.2
=204VE 16 16 204 G1/8.. 10 SD16 1 0.5
SD20-C20-200V 20 20 200 G1/4.. 7 SD20 1 0.4
-260VE 20 20 260 G1/4.. 10 SD20 1 0.8

SD25-C25-255V 25 25 255 G1/4.. 7 SD25 1 1
-330VE 25 25 330 G1/4.. 10 SD25 1 1.3

=-380VE 25 25 380 G1/8.. 12 SD25 1 2
-430VE 25 25 430 G1/8.. 14 SD25 1 2.6

SD32- C32-320V 32 32 320 G3/8.. 7 SD32 1 2.1
=416V 32 32 416 G3/8.. 10 SD32 1 2.8
=480VE 32 32 480 G1/4.. 12 SD32 1 4.2
-544VE 32 32 544 G1/4.. 14 SD32 1 4.8
SD40-C40-408V 40 40 408 G1/2.. 7 SD40 2 4.6
=528V 40 40 528 G1/2.. 10 SD40 2 5.3
-608VE 40 40 608 G3/8.. 12 SD40 2 8.3
-688VE 40 40 688 G3/8.. 14 SD40 2 9.4
FA& I ER:
T F ThEER S Mark
K[E Length
JI#FE 18 Diameter
JEEE 7]k cartridge



®
<5 O-N-W BB 1T A

-FARRIRETIHF DAMPING TURNING TOOL HOLDER

ST1001 SNIdWva

MASEAE >

]
/

7HFER ZREER bET WIS
DCON1 DCON CARTRIDGE
SD40-C50-518V 50 40 518 G1/2.. 7 SD40 7.2
=668V 50 40 668 G1/2.. 10 SD40 9.3
=768VE 50 40 768 G1/2.. 12 SD40 14.4
-868VE 50 40 868 G1/2.. 14 SD40 16.6
MRS RA:

? The S Mark
£E Length

TJI#FE 18 Diameter
&EEBZJ]3k Cartridge



®
JE/E i 17 77 8 <5 O-N-W

-FBRBIRETIHF DAMPING TURNING TOOL HOLDER

>

]
>
=
o
=
5]
=
o
o
=
«

2]
=
i
1=
7
=1

|
/

JFEE ZRHEER BEECT] sk
DCON1 DCON CARTRIDGE
SD40-C60-628V 60 40 628 G3/4.. 7 SD40 12.5
=808V 60 40 808 G3/4.. 10 sSD40 16.3
=920VE 60 40 920 G3/4.. 12 SD40 271
-1040VE 60 40 1040 G3/4.. 14 SD40 30.9
AR ERA:

? IhEEXS Mark
KE Length

JI#FE 1R Diameter
J&BE I3k Cartridge



®
<5 O-N-W BB 1T A

-FARRIRETIHF DAMPING TURNING TOOL HOLDER

ST1001 SNIdWva

MASEAE >

]
/

JHER REMER NES 3 Efc ]k
DCONT1 DCON CARTRIDGE
SD80-C80-880V 80 80 880 G3/4.. 7 SD80 31.8
=1200V 80 80 1200 G3/4.. 10 SD80 52.3
=1240VE 80 80 1240 G3/4.. 12 SD80 50
-1400VE 80 80 1400 G3/4.. 14 SD80 63
A% BR:
SD8O I8 y
INEEL S Mark
FF Length
JIFFE 1R Diameter
i&#E2 773k Cartridge



®
BB A B O-N-W

-PFEERRMRZETIFF  DAMPING TURNING TOOL HOLDER

>

o
>
=
=
=
[}
-
o
o
=
n

2]
=
i
1=
7
=1

|
/

TIMER REEER KE &k
DCON1 DCON LF CARTRIDGE
SD80-C100-1100V 100 80 1100 G3/4.. 7 SD80 63.4
-1500V 100 80 1500 G3/4.. 10 SD80 86.8
-C120-1900V-R/L 120 80 1900 G3/4.. 10 SD80 134
-C130-2000V-R/L 130 80 2000 G3/4.. 10 SD80 192.3
-C140-2200V-R/L 140 80 2200 G3/4.. 10 SD80 241.5
-C150-2400V-R/L 150 80 2400 G3/4.. 10 SD80 252.6
-C160-2600V-R/L 160 80 2600 G3/4.. 10 SD80 339.3
-C180-2800V-R/L 180 80 2800 G3/4.. 10 SD80 458.2
-C200-3200V-R/L 200 80 3200 G3/4.. 10 SD80 657.7
-C220-3450V-R/L 220 80 3450 G1.. 10 SD80 1059.3
-C250-4000V-R/L 250 80 4000 G1.. 10 SD80 1229
AR IR

SD8OE - -\a- m
A1 7£ Right/Left
InEER S Mark
K Length

+FE 1R Diameter
JEEZ Ik Cartridge



®
<5 O-N-W BB 1T A

-THRIRMIERZETIHF DAMPING TURNING TOOL HOLDER

ST1001 SNIdWva

MISiRAE >

]
/

7HFER ZREER e &EEc 7]k
DCON1 DCON LF CARTRIDGE
SD80-C100-1560VE 100 80 1560 G3/4.. 12 SD80 1176
-1760VE 100 80 1760 G3/4.. 14 SD80 1333
-C120-1870VE-R/L 120 80 1870 G3/4.. 12 SD80 215.7
-2110VE-R/L 120 80 2110 G3/4.. 14 SD80 248.6
-C130-2030VE-R/L 130 80 2030 G3/4.. 12 SD80 271.4
-2290VE-R/L 130 80 2290 G3/4.. 14 SD80 312.3
-C140-2190VE-R/L 140 80 2190 G3/4.. 12 SD80 336.7
-2470VE-R/L 140 80 2470 G3/4.. 14 SD80 386.8
-C150-2350VE-R/L 150 80 2350 G3/4.. 12 SD80 397.2
-2650VE-R/L 150 80 2650 G3/4.. 14 SD80 472.4
-C160-2510VE-R/L 160 80 2510 G3/4.. 12 SD80 4975
-2830VE-R/L 160 80 2830 G3/4.. 14 SD80 571.2
-C180-2830VE-R/L 180 80 2830 G3/4.. 12 SD80 559.7
-3190VE-R/L 180 80 3190 G3/4.. 14 SD80 642.6
-C200-3150VE-R/L 200 80 3150 G3/4.. 12 SD80 621.9
-3550VE-R/L 200 80 3550 G3/4.. 14 SD80 714.3
-C220-3470VE-R/L 220 80 3470 G3/4.. 12 SD80 684.1
-3910VE-R/L 220 80 3910 G3/4.. 14 SD80 785.7
-C250-3950VE-R/L 250 80 3950 G3/4.. 12 SD80 7774
-4450VE-R/L 250 80 4450 G3/4.. 14 SD80 892.8
ARSI ER:

RN - - S VEE q!
A/ Right/Left
InEER S Mark
K E Length
JIFFEZ Diameter
&

&3 JJ3k Cartridge



®
[/ 45 T A < O-N-W

-JEBY o5°oTF & J]sL POSITIVE TYPE 95° BORING

>

(=}
>
=
=z
=
o
=
o
o
=
0

i
e
A
i
7
2

Bs RE TEAER PR SCE AE il )
Model LF DCON WF DMIN KARP Insert KG

SD16-SCLCR-06 20 16 11 20 952 CC**0602** 0.03
SD20-SCLCR-09 20 20 13 25 95¢2 CC**09T3** 0.05
SD25-SCLCR-09 20 25 17 32 952 CC**09T3** 0.07
SD32-SCLCR-09 32 32 22 40 95¢2 CC**09T3** 013
SD40-SCLCR-12 38 40 27 50 952 CC**1204** 0.24
SD16-SCLCL-06 20 16 11 20 958 CC**0602** 0.03
SD20-SCLCL-09 20 20 13 25 952 CC**09T3** 0.05
SD25-SCLCL-09 20 25 17 32 958 EEEO9M32s 0.07
SD32-SCLCL-09 32 32 22 40 952 CE 0913+ 0.13
SD40-SCLCL-12 38 40 27 50 952 CC**1204** 0.24

° ﬁ#l: SPARE PARTS

B screw  PEEF N PET T2 TRRF R
= Wrench Shim Sleeve for shim Allen key for shim Locating pin
SD16-SCLCR/L-06 SR21-M2.5*0.45P*5 T8 T = = D4-3*7
SD20-SCLCR/L-09 SR21-M4*0.7P*9 T15 - . = D6-5*8
SD25 SCLCR/L-09 SR21-M4*0.7P*9 T15 T = = D6-5*9
SD32 SCLCR/L-09 SR21-M4*0.7P*9 T15 = - = D6-5*11
SD40 SCLCR/L-12 SR21-M5*0.8P*12 T20 ST01-CC12*2.8 | SRT-M7-M5*13 KEYQ1-M3 D6-5*11
FAS 5L RA:
7])# Insert
#//E Right/Left
IeERS Mark
1&f2 7]k Cartridge



®
< O-N-W B #T A

-IEBY 93°TF & J]sL POSITIVE TYPE 93° BORING

>

i
IZE

e
il
ST100L DNI

ms

BS KE ZEREER thiE SCE RE kR Ea

Model LF DCON WF DMIN KARP Insert KG
SD16-SDUCR-07 20 16 11 20 93° DC**0702** 0.03
SD20-SDUCR-11 20 20 13 25 932 DC**11T3** 0.05
SD25-SDUCR-11 20 25 17 32 93° DC**11T3** 0.07
SD32-SDUCR-11 32 32 22 40 932 DC**11T3** 0.13
SD40-SDUCR-11 32 40 27 50 932 DE=E1 3 0.2
SD16-SDUCL-07 20 16 11 20 932 DC**0702** 0.03
SD20-SDUCL-11 20 20 13 25 932 DE=E1 3 0.05
SD25-SDUCL-11 20 25 17 32 932 BIE e 0.07
SD32-SDUCL-11 32 32 22 40 932 DE i3 0.13
SD40-SDUCL-11 32 40 27 50 938 DEE i3S 0.2

° ﬁ#l: SPARE PARTS

B scren  EEF TEBE NEEFE B

Wrench Sleeve for shim Allen key for shim Locating pin
SD16-SDUCR/L-07 SR21-M2.5*0.45P*5 T8 = = = D4-3*7
SD20-SDUCR/L-11 SR21-M4*0.7P*11 T15 = = = D6-5*8
SD25-SDUCR/L-11 SR21-M4*0.7P*11 T15 = = = D6-5*9
SD32-SDUCR/L-11 SR21-M4*0.7P*11 T15 ST01-CC11*2.82 | SRT-M6-M4*6.9 KEY01-M4 D6-5*11
SD40-SDUCR/L-11 SR21-M4*0.7P*11 T15 ST01-CC11*2.82 | SRT-M6-M4*6.9 KEY01-M4 D6-5*11

AL RA:

T WJJH' Insert
A/ Right/Left
IRERS Mark

1&fZ 7]k Cartridge



®
JE/E 7 T A <5 O-N-W

-IEBY O3°F#E{F A2 Tk POSITIVE TYPE 93° BORING AND PROFILE-TURNING

A

"
zfe
1 "
: %’j& KAPR
LF i
DCON
me KE REFERE  POE S R K 58
Model LF DCON WF DMIN KARP Insert (€]
SD20-SVUCR=11 20 20 15 27 93 E VC**1103** 0.05
SD25-SVUCR=-11 20 25 18 33 93 & VC**1103** 0.06
SD20-SVUCL-11 20 20 15 27 93 E VC**1103** 0.05
SD25-SVUCL-11 20 25 18 33 93 E VC**17103** 0.06

‘ §1¢ SPARE PARTS

S Model 24 Screw MEEIRF Wrench ENY Locating pin
SD20-SVUCR/L-11 SR21-M2.5*0.45P*6 T8 D6-5*8
SD25-SVUCR/L-11 SR21-M2.5*0.45P*6 T8 D6-5*9

FIA& 5 ER:

? ? J1E Insert
A/ Right/Left
h

INRE S Mark
i&BZJJ3k Cartridge



®
<5 O-N-W BB 1T A

° IEgg 9 5°Eiﬁﬁﬁ§ﬂ % POSITIVE TYPE 95° BORING AND PROFILE-TURNING

MASEAE >

ST1001 SNIdWva

]
/

ZERHEER Ak
DCON Insert
SD32-SVLBR-16 32 32 22 40 95 E VC**1604** 0.13
SD40-SVLBR-16 32 40 27 50 95 E VC**1604** 0.19
SD32-SVLBL-16 32 32 22 40 95 E VC**1604** 0.13
SD40-SVLBL-16 32 40 27 50 95 E VC**1604** 0.19

° §1¢ SPARE PARTS

W screw  REEF pEL S NERF A
‘— Wrench Sleeve for shim  Allen key for shim Locating pin
SD32-SVLBR/L-16 SR21-M4*0.7P*11 T15 ST01-CC16*2.82 | SRT-M6-M4*6.9 KEY01-M4 D6-5*11
SD40-SVLBR/L-16 SR21-M4*0.7P*11 T15 ST01-CC16*2.82 | SRT-M6-M4*6.9 KEY01-M4 D6-5*11
AR RR:

$7] F Insert
#/7E Right/Left
IIRERS Mark

J&BZJJ3k Cartridge



B/ #EIIR

-IE® 62.5°(5 2 7] 3k

5 O0-N-w®

A POSITIVE TYPE 62.5° PROFILE-TURNING
1 < WF
- KAPR
3
° 2!3\- L2
LPR Lf |
“"DCON
me KE REEEE . ., PLE 0 A K Fr
Model LF DCON WF DMIN KARP Insert KG
SD16-SDXCR-07 15 16 18.8 13 22 62.5° DC**Q702** 0.03
SD20-SDXCR=-07 15 20 18.8 15 27 62.5° DC**0702** 0.04
SD25-SDXCR=-07 15 25 18.8 18 33 62.5° DC**0702** 0.06
SD32-SDXCR-11 20 32 28 22 40 62.5° DC*11T3** 0.12
SD40-SDXCR-11 20 40 28 27 50 62.5° DC*11T3** 0.18
SD16-SDXCL-07 15 16 18.8 13 22 62.5° DC**0702** 0.03
SD20-SDXCL-07 15 20 18.8 15 27 62.5° DC**0702** 0.04
SD25-SDXCL-07 15 25 18.8 18 33 62.5° DC**0702** 0.06
SD32-SDXCL-11 20 32 28 22 40 62.5° DC**11T3** 0.12
SD40-SDXCL-11 20 40 28 27 50 62.5° DC**11T3** 0.18

&

SPARE PARTS

B screw  REEF TREE DERF B

Wrench Sleeve for shim Allen key for shim Locating pin
SD16-SDXCR/L-07 SR21-M2.5*0.45P*5 T8 = = = D4-3*7
SD20-SDXCR/L-07 SR21-M2.5*0.45P*5 T8 = = = D6-5*8
SD25-SDXCR/L-07 SR21-M2.5*0.45P*5 T8 = o = D6-5%9
SD32-SDXCR/L-11 SR21-M4*0.7P*11 T15 ST01-CC11*2.82 | SRT-M6-M4*6.9 KEY01-M4 D6-5*11
SD40-SDXCR/L-11 SR21-M4*0.7P*11 T15 ST01-CC11*2.82 | SRT-M6-M4*6.9 KEY01-M4 D6-5*11

AL RE:

J&BZJJ3k Cartridge

WDH' Insert

[ IEES Mark

A /% Right/Left




<5 0-N-w®

HEER#ETE
-1IE8Y 93° R §& J] 3k POSITIVE TYPE 93° BACK BORING A

B,

W i

| k },Eg

KAPR| /57 it

LPR ¥ i 8
LLF |
DCON ~

Bs KE REEEE 4., POE 0 i TE 58
Model LF DCON WF DMIN KARP Insert KG
SD16-SDZCR-07 15 16 26.6 13 22 93° DC**Q702** 0.03
SD20-SDZCR-07 15 20 26.6 15 27 93° DC**0702** 0.05
SD25-SDZCR-07 15 25 26.6 18 33 93° DC**0702** 0.06
SD32-SDZCR-11 20 32 37 22 40 93° DC**11T3** 0.14
SD40-SDZCR-11 20 40 37 27 50 93° DC**11T3** 0.22
SD16-SDZCL-07 15 16 26.6 13 22 93° DC**0702** 0.03
SD20-SDZCL-07 15 20 26.6 15 27 93° DC**0702** 0.05
SD25-SDZCL-07 15 25 26.6 18 33 93° DC**0702** 0.06
SD32-SDZCL-11 20 32 37 22 40 93° DC**11T3** 0.14
SD40-SDZCL-11 20 40 37 27 50 93° DC**11T3** 0.22

&4

SPARE PARTS

HEARF
Wrench

NNREE TIBRF ENH
Sleeve for shim Allen key for shim Locating pin

1222 Screw

SD16~-SDZCR/L-07 SR21-M2.5*0.45P*5 T8 = = D4-3*7
SD20-SDZCR/L-07 SR21-M2.5*0.45P*5 T8 = = D6-5*8
SD25-SDZCR/L-07 SR21-M2.5*0.45P*5 T8 = = D6-5*9
SD32-SDZCR/L-11 SR21-M4*0.7P*11 T15 ST01-CC11*2.82 | SRT-M6-M4*6.9 KEYO01-M4 D6-5*11
SD40-SDZCR/L-11 SR21-M4*0.7P*11 T15 ST01-CC11*2.82 | SRT-M6-M4*6.9 KEYO01-M4 D6-5*11

AL RE:

mﬂ F Insert
A /% Right/Left
RS Mark

i&BZJJ3k Cartridge



B/ #EIIR

-IEB 91°IE# T] L

A POSITIVE TYPE 91° PROFILE-TURNING
A
= 5 “KAPR
7 o
&2 57
LF |
i
==
DCON
= pp— = 5
ode F o Thoon PEWE gunGmeinsen K?
SD16-STFCR-09 20 16 11 20 91° TC**0902** 0.03
SD16-STFCR-11 20 16 11 20 91° TC**1102** 0.03
SD20-STFCR-11 20 20 13 25 91° TC**1102** 0.04
SD25-STFCR-11 20 25 17 32 91° TC**1102** 0.06
SD32-STFCR-16 32 32 22 40 91° TC*16T3** 014
SD40-STFCR-16 32 40 27 50 91° TC*16T3** 0.21
SD16-STFCL-09 20 16 11 20 91° TC**0902** 0.03
SD16-STFCL-11 20 16 11 20 91° TC**1102** 0.03
SD20-STFCL-11 20 20 13 25 91° TC*™*1102** 0.04
SD25-STFCL-11 20 25 17 32 91° TC**1102** 0.06
SD32-STFCL-16 32 32 22 40 91° TC*16T3** 014
SD40-STFCL-16 32 40 27 50 91° TC**16T3** 0.21

‘ §1¢ SPARE PARTS

IS Model 1842 Screw HERRF Wrench E{IH Locating pin
SD16-STFCR/L-09 SR21-M2.2*0.45P*5.5 T7 D4-3*7
SD16-STFCR/L=11 SR21-M2.5*0.45P*6 T8 D4-3*7
SD20-STFCR/L=11 SR21-M2.5*0.45P*6 T8 D6-5*8
SD25-STFCR/L-11 SR21-M2.5*0.45P*6 T8 D6-5*9
SD32-STFCR/L-16 SR21-M4*0.7P*9.5 T15 D6-5*11
SD40-STFCR/L=16 SR21-M4*0.7P*9.5 T15 D6-5%11

MRS RA:

T @ JIE Insert
A/ Right/Left
|

IhEERS Mark
JEBZJI3k Cartridge




<5 0-N-w®

-fABY 95°TF # T 5L

NEGATIVE TYPE 91° PROFILE-TURNING

BEm#IIR

ST1001 SNIdWva

MASEAE >

= e
T =7 B 8
[=]
W N
=
KAPR
/
LF
ms KE  RREEE g0, BE 2 AE K 5
Model LF DCON DMIN KARP Insert KG
SD32-DWLNR-06T 32 32 22 40 95 E WN**0604** 0.11
SD32-DWLNR-08T 36 32 24 46 95 E WN**0804** 0.12
SD40-DWLNR-08T 36 40 27 50 95 E WN**0804** 0.23
SD32-DWLNL-06T 32 32 22 40 95 E WN**0604** 0.11
=08T 36 32 24 46 95 E WN**0804** 0.12
SD40-DWLNL-08T 36 40 27 50 95 E WN**0804** 0.23

&

SPARE PARTS

R EAREE EARIZET PAE: FERIRF TBHREE]  TRRF  ENE

Clamping pad  Spring for clampin pad Screw for clampin pad Shim Allen key for clampin pad Clamping screw for shim Allen key for shim Locating pin
SD32-DWLNR/L-06T | PBTODDNT11 YH7*0.6*13 SR59M4*16 STOTWNO06*3.18 KEY01-M2.5 SR20-M4*0.7P*9.5 KEY02-T15 D6-5*11
SD32-DWLNR/L-08T | PB10DCN12 YH8*0.6*13 SR59M5*20 STOTWNO08*3.18 KEY01-M3 SR20-M5*0.8P*10 KEY02-T20 D6-5*11
SD40-DWLNR/L-08T | PB10DCN12 YH8*0.6*13 SR59M5*20 STOTWNO08*6.35 KEY01-M3 SR20-M4*0.7P*9.5 KEY02-T15 D6-5*11

A% BR:

J&EBZJ]3k Cartridge

WDH' Insert
A/ Right/Left

Tw

BECS Mark

> Ald L



®
JE/E 7 T A <5 O-N-W

-IER 93° (AR T) 3k POSITIVE TYPE 93° BACK BORING PROFILE-TURNING

>

]
>
=
o
=
5]
=
o
o
=
«

2]
=
i
1=
7
=1

|
/

ns KE REEEE 2K PR vE BE ., EE
Model LF DCON LPR WF DMIN KARP KG
SD20-SVUCR-11 15 20 27 20 32 93° VC**1103** 0.05
SD25-SVUCR-11 15 25 27 22 37 93° VC**1103** 0.08
SD20-SVUCL-11 15 20 27 20 32 93° VC**1103** 0.05
SD25-SVUCL-11 15 25 27 22 37 93° VC**1103** 0.08

° %14: SPARE PARTS

S Model $2% Screw AR F Wrench EAL Locating pin
$D20-SVUCR/L-11 SR20-M2.5*0.45P*6 T8 D6-5*8
SD25-SVUCR/L-11 SR20-M2.5*0.45P*6 T8 D6-5*9

A& ER:

? mﬂﬁ[ Insert
A/ Right/Left
f)

INREC S Mark
i&H2JJ3k Cartridge



<5 O0-N-w®

- B 95° F§¥ J] sk NEGATIVE TYPE 95° BORING

JAN
FE
KAPR 2
_ N = 2
- Je
| o
LF &
DCON
iR KE REEBER = =TT\AY; 2] BE RE by =
Model LF DCON WF DMIN KARP Insert KG
SD32-DCLNR-12 38 32 22 40 95° CN**1204** 017
SD40-DCLNR-12 38 40 27 50 95° CN**1204** 0.22
SD40-DCLNR-16 40 40 32 57 95° CN**1606** 0.32
SD40-DCLNR-19 42 40 34 57 95° CN**1906** 0.33
SD32-DCLNL-12 38 32 22 40 95° CN**1204** 017
SD40-DCLNL-12 38 40 27 50 95° CN**1204** 0.22
SD40-DCLNL-16 40 40 32 57 95 & CN**1606** 0.32
SD40-DCLNL-19 42 40 34 57 95 & CN**1906** 0.33

‘ ﬁ'{q: SPARE PARTS

AR EfR3EE FEARRET PaE:4 ERIRF THRGREBET  JIRRFE  ENUH
Clamping pad  Spring for clampin pad = Screw for clampin pad Shim Allen key for clampin pad Clamping screw for shim Allen key for shim Locating pin
SD32-DCLNR/L-12 | PBT10DCN12 YH8*0.6*13 SR59M5*20 STO1CN12*3.2 KEY01-M3 SR20-M5*0.8P*10 KEY02-T20 D6-5*11
SD40-DCLNR/L=12 | PB10DCN12 YH8*0.6%13 SR59M5*20 STO1CN12*3.2 KEY01-M3 SR20-M5*0.8P*10 KEY02-T20 D6-5*11
SD40-DCLNR/L-16 | PBT10DCN16 YH9*0.8*14 SR59M6*26.5 STOTCN16*3.2 KEY01-M4 = KEY02-T20 =

SD40-DCLNR/L-19 | PB10DCN19 = - - - - - -

MR EER:

@ J1F Insert
A/ Right/Left
IEES Mark

i&EZT]3k Cartridge



®
JE/E 7 T A <5 O-N-W

AR 93°E A TI L NEGATIVE TYPE 93° BORING AND PROFILE-TURNING
WF
KAPR

o
>
=
=
=
[}
-
o
o
=
n

2]
=
i
1=
7
=1

|
/

DCON
s KE REBER =K i iE EE RE S s ==y
Model LF DCON LPR WF DMIN KARP KG
SD40-DVUNR-16 20 40 38.5 34 56 BE VN**1604** 0.26
SD40-DVUNL-16 20 40 38.5 34 56 BE VN**1604** 0.26

° §1¢ SPARE PARTS

FEAR FEARSEE EARERET Ak BERIRF TNBHREBE]  BRF TEUHE
Clamping pad  Spring for clampin pad Screw for clampin pad Shim Allen key for clampin pad Clamping screw for shim Allen key for shim Locating pin
SD40-DVUNR/L=16| PB10DVN16 YH9*0.8*14 SR59M6*26.5 STOTVN16*3.2 KEY01-M4 SR20-M3.5*0.6P*8.5 | KEY02-T10 D6-5*11
> .
AR IR

? @ TIE Insert
A/ Right/Left

IheersS Mark
i&H2JI3k Cartridge



®
<5 O-N-W BB 1T A

B 93°FEFA Ik NEGATIVE TYPE 93° BORING AND PROFILE-TURNING

ST1001 SNIdWva

MASEAE >

]
/

BS KE REEER it iE SEE RE T e £
Model LF DCON WF DMIN KARP KG
SD32-DDUNR-11 32 32 22 40 93° DN**1104** 013
SD40-DDUNR-15 32 40 27 50 93° DN**1506** 0.21
SD32-DDUNL-11 32 32 22 40 93° DN**1104** 013
SD40-DDUNL-15 32 40 27 50 93° DN**1506** 0.21

‘ §1¢ SPARE PARTS

ER EREE FEARIRET & ERIRF TEBRYPRRE]  TRRF  EuH

Clamping pad Spring for clampin pad Screw for clampin pad Shim Allen key for clampin pad Clamping screw for shim Allen key for shim Locating pin
SD32-DDUNR/L-11 | PB10DDN11 YH7%0.6*13 SR59M4*16 STOTDN11*3.18 KEY01-M2.5 SR21-M4*0.7P*9.5 | KEY02-T15 | D6-5*11
SD40-DDUNR/L=15| PB1ODCN12 YH8*0.6*13 SR59M5*20 STOTDN15*4.76 KEY01-M3 SR20-M4*0.7P*11.5 KEY02-T15 D6-5*11

MR EER:

gﬂ)ﬂr Insert

/K Right/Left
IneefX S Mark
&HE I3k Cartridge



DAMPING

T ®
e ey <5 O-N-W

-IEBY 95° F & ] 5L POSITIVE TYPE 95° BORING

A
| S
%% - . ~
glﬂ e | N,
g ik / . N
S 7] / ! \
= = / ! \
[ L] @ [ I I 7 | | R \
o .
a | |
\ / |
w \ ; /
= \ (BB /
N : /
E" AN -
/S D SN s
3 DMIN -
T

BS KE ZXHEER $dE EE EBE AE kR E3
Model LF DCON WF DMIN H KARP Insert KG

SD80-SCLCR-12 45 80 57 100 37.5 95° CC**1204** 0.55

SD80-SCLCL-12 45 80 57 100 37.5 95° CC**1204** 0.55

‘ §'1¢ SPARE PARTS

ER ERREE FEARIZET g ERIRF TIBGREE] TERF

Clamping pad Spring for clampin pad Screw for clampin pad Shim Allen key for clampin pad Clamping screw for shim  Allen key for shim

SD80-SCLCR/L-12 | PB10ODCN12 | YH8%0.6*13 SR59M5*20 [STO1CN12*3.2 KEY01-M3 SR20-M5*0.8P*10 | KEY02-T20

MR EER:

SDSOE - - @
JIE Insert
A/ Right/Left
IhEE S Mark

i&HEZJI3k Cartridge



<5 0-N-w®

-8 95°1F & J] 5L NEGATIVE TYPE 95° BORING

MASEAE >

=</
>
)
)
=
M
N
N
\
\
\
I
I
/
/
/
Ve
]
/
S1001 ONIdIWYa

‘ / ! N\
! y ‘ \ [
LF ! / | \
- . I + H
! | : J
: \ 1 /, l
\‘ ! ’/
DCON N y
\\ (/
RS KE ZEmER $NME SBE EE RE il B
Model LF DCON WF DMIN H KARP Insert KG
SD80-DCLNR-12 45 80 57 100 375 95° CN**1204** 0.56
SD80-DCLNR-16 45 80 57 100 375 95° CN**1606** 0.6
SD80-DCLNL=-12 45 80 57 100 37.5 95° CN**1204** 0.56
SD80-DCLNL-16 45 80 57 100 37.5 95° CN**1606** 0.6

‘ §'1¢ SPARE PARTS

ER ERRGEE EHRIRET PaE: ERIRF TIBHERZRET TRRF

Clamping pad Spring for clampin pad Screw for clampin pad Shim Allen key for clampin pad  Clamping screw for shim  Allen key for shim

SD80-DCLNR/L=12 | PBTODCN12 | YH8*0.6*13 SR59M5*20 [STO1CN12*3.2 KEY01-M3 SR20-M5*0.8P*10 | KEY02-T20

SD80-DCLNR/L=16 | PB1ODCN16 | YH9*0.8*14 | SR59M6*26.5 |STO1CN16*3.2 KEY01-M4 - KEY02-T20
AL RE:
LN - - - @
JI1F Insert
A/ Right/Left

IheeXsS Mark
i&H2JI3k Cartridge



®
JE/E 7 T A <5 O-N-W

B 93°FEFA Ik NEGATIVE TYPE 93° BORING AND PROFILE-TURNING

2]
=
i
1=
7
=1

]
>
=
o
=
5]
=
o
o
=
«

|
/

; \ ; /
DCON N /
N -
= KE ZEAER $ubdE SBE BE RE TR Eh
Model LF DCON WF DMIN H KARP Insert KG
SD80-DDUNR-15 45 80 57 100 375 93° DN**1506** 0.55
SD80-DDUNL-15 45 80 57 100 375 93° DN**1506** 0.55

‘ §1¢ SPARE PARTS

ER R E FEARIZET & ERIRF TIEBGRIRET TBIRF
Clamping pad  Spring for clampin pad Screw for clampin pad Shim Allen key for clampin pad ~ Clamping screw for shim  Allen key for shim
SD80-DDUNR/L=15X | PB10DCN12 YH8*0.6*13 SR59M5*20 STO1DN15*4.76 KEY01-M3 SR20-M4*0.7P*11.5 KEY02-T15
> .
AR RA:

SDSOIE - - @
JIE Insert
/& Right/Left
|

INEER S Mark
i&BZJJ3k Cartridge



<5 0-N-w®

A S
ﬁg! 93°§ﬁﬁﬂ'§n% NEGATIVE TYPE 93° BACK BORING AND PROFILE-TURNING A
=1
fez
Bz
—— WF & 3
7
A
/ ! [
KAPR % i
LPR _¢ H
LF [
. :
DCON
RS KE ZEEER 2K e SEE EBE RE il L
Model LF DCON LPR WF DMIN H KARP Insert KG
SD80-DDUNR-15X 20 80 45 57 100 375 93° DN**1506** | 0.55
SD80-DDUNL-15X 20 80 45 57 100 375 93° DN**1506** | 0.55

‘ §'1¢ SPARE PARTS

ER EAR3HE FEARIZET PAE: ERIRF TIBHRRE] TIBIRF
Clamping pad  Spring for clampin pad Screw for clampin pad Shim Allen key for clampin pad  Clamping screw for shim Allen key for shim
SD80-DDUNR/L-15X | PB10DCN12 YH8*0.6%13 SR59M5*20 STO1DN15*4.76 KEY01-M3 SR20-M4*0.7P*11.5 KEY02-T15
> .
AR RA:

SDSO B - - @
JIE Insert
/K Right/Left
H8E

IEER S Mark
i&BZJJ3k Cartridge



5 O0-N-w®

NEGATIVE TYPE 62.5° BORING AND PROFILE-TURNING

— WF
=
KAPR

S1001 ONIdWva

KE ZREEER 3 TR
LF DCON Insert
SD80-DDXNR-15 25 80 40.3 57 100 37.5 62.5 DN**1506** 0.5
SD80-DDXNL=-15 25 80 40.3 57 100 37.5 62.5 DN**1506** 0.5

‘ ﬁ'{q: SPARE PARTS

ER EMRHE EARERET Pak:S BERIRF PESnE-Ltd) TIBIRF
Clamping pad  Spring for clampin pad Screw for clampin pad Shim Allen key for clampin pad  Clamping screw for shim  Allen key for shim
SD80-DDXNR/L=15 | PB10DCN12 YH8*0.6*13 SR59M5*20 STO1DN15*4.76 KEY01-M3 SR20-M4*0.7P*11.5 KEY02-T15
> .
AR5 ER:

SD8OE - - @
J1E Insert
A/ Right/Left

InEefXS Mark
&HE2JI3k Ccartridge



®
<5 O-N-W BB 1T A

: ﬁ g! 930&@%%” % NEGATIVE TYPE 93° BACK BORING AND PROFILE-TURNING

ST1001 SNIdWva

MASEAE >

WF ‘
\‘\
\\‘ =
i \
KAPR o | \ T
LPR ﬁ(i i LF
LF k
| | ! | ]! l
]
' \ /
DCON N .
~N e
=S KE ZEEER E=0iN e SBE EE fAE kR £
Model LF DCON LPR WF DMIN H KARP Insert (€]
SD80-DVUNR=-16X 20 80 45 64 100 37.5 93° VN**1604** 0.55
SD80-DVUNL-16X 20 80 45 64 100 37.5 93° VN**1604** 0.55

‘ ﬁ'{q: SPARE PARTS

EAR MR8 EIRIRET Pak: BERIRF PESE ) TBRF
Clamping pad  Spring for clampin pad Screw for clampin pad Shim Allen key for clampin pad  Clamping screw for shim  Allen key for shim
SD80-DVUNR/L=16X | PB10DVN16 YH9*0.8*14 SR59M6*26.5 STOTVN16*3.2 KEY01-M4 SR20-M3.5%0.6P*8.5 | KEY02-T10
> .
AR5 ER:

SD8OE -0 - @
J1H Insert
A/ Right/Left

IhEERS Mark
&HE2JI3k Ccartridge



®
JE/E 7 T A <5 O-N-W

-IEB 93°F$E{Ac JI sk POSITIVE TYPE 93° BORING AND PROFILE-TURNING

]
>
=
o
=
5]
=
o
o
=
«

[ o '
\ /
] 1 | \ \ /" l
' \ 7/
DCON \ /
N s
B KE ZERER $ubdE SEE EBE RE yalay B=
Model LF DCON WF DMIN H KARP Insert KG
SD80-SDUCR=-11 45.7 80 57 100 37.5 93° DC**11T3** 0.55
SD80-SDUCL-11 45.7 80 57 100 37.5 93° DC*™*11T3** 0.55

&

SPARE PARTS

= HEMRF TIREE TIBRF
= Model . .
Wrench Sleeve for shim Allen key for shim
SD80-SDUCR/L-11 SR21-M4*0.7P*11 T15 ST01-CC11*2.82 SRT-M6-M4*6.9 KEY01-M4
R ER:

RN - - A - @
JIE Insert
A/ Right/Left
IhEefLS Mark

&HE2JI3k Ccartridge



<5 0-N-w®

BEm#IIR

-IEBE 95°F (AL J] 3k POSITIVE TYPE 95° BORING AND PROFILE-TURNING

o
>
=
=
=
A}
=
o
o
I
n

A
i)
e
i
=
7]
B

m - ~
/ i
3 ' - =
— S [ s o || | A
a ] |
| : i
= : /
- \ (B /
[ () A \,/'
e S —
LF \DMIN
BS KE ZEmAER $ubE EE EE AmE alay £
Model LF DCON WF DMIN H KARP Insert (€]
SD80-SVLCR-16T 45 80 57 100 37.5 95° VC**1604** 0.44
SD80-SVLCL-16T 45 80 57 100 37.5 95° VC**1604** 0.44

° §1¢ SPARE PARTS

MEERF

ES Model Wrench

TREE

Sleeve for shim

TIBIRF
Allen key for shim

SD80-SVLCR/L-16T SR21-M4*0.7P*11 T15 ST01-CC16*2.82

SRT-M6-M4*6.9

KEY01-M4

M EER:

SDSOE - Y - @
T Insert
£/ Right/Left
Ih

RELS Mark
&HE2JI3k Ccartridge



B/ #EIIR

1871713k

>

o
>
=
=
=
[}
-
o
o
=
n

2]
=
i
1=
7
=1

|
/

GROOVING HEAD

WF

DCON

BS KE REKHEER ohi\iE EE rE% NNk =
Model LF DCON WF DMIN w Insert KG
SD25-GIR/L=2 14 25 17.5 31 2 HG2002 0.45
-3 14 25 17.5 31 3 HG3003 0.45
SD32-GIR/L-2 18 32 20 37 2 HG2002 0.45
-3 18 32 20 37 3 HG3003 0.45
SD40-GIR/L-2 18 40 24 45 2 HG2002 0.45
-3 18 40 25 46 3 HG3003 0.45
=4 18 40 28 49 4 HG4004 0.45
¢ g'{q: SPARE PARTS

S Model ¥2% Screw AR F Wrench SEAI$H Locating pin

SD25-GIR/L=2 SR55=-M4*0.7P*12 KEY01-M3 D6-5*9

=3 SR55=-M4*0.7P*12 KEY01-M3 D6-5*9

SD32-GIR/L-2 SR55-M4*0.7P*12 KEY01-M3 D6-5*11

=3 SR55-M4*0.7P*12 KEY01-M3 D6-5*11

SD40-GIR/L-2 SR55-M4*0.7P*12 KEY01-M3 D6-5*11

-3 SR55-M4*0.7P*12 KEY01-M3 D6-5*11

=4 SR55-M4*0.7P*12 KEY01-M3 D6-5%11

MR-

? J1K Insert
A/ Right/Left
IhgeS Mark

&BZJJ3k Cartridge




<5 0-N-w®

-BRE0T] 3k

BEm#IIR

THREADING TOOL CARTRIDGE A
iz
5
hE
z o
e <k
L
T
LF
s REEMER ==l Y] SBE yilay 5E
Model LF DCON WEF DMIN Insert KG
SD20-SIR/L=16 25 20 14 25 16IR/L 0.04
SD25-SIR/L=16T 25 25 17 32 16IR/L 0.05
SD32-SIR/L=16T 32 32 22 40 16IR/L 0.11
SD32-SIR/L-22T 32 32 22 40 22IR/L 0.11
SD40-SIR/L-16T 32 40 27 50 16IR/L 017
SD40-SIR/L-22T 32 40 27 50 22IR/L 017

d- 157

SPARE PARTS

MEEURF

JIBEE
Sleeve for shim

TEfUEH

Wrench Locating pin

SD20-SIR/L-16 SR20-M3.5*0.6P*11.5 KEY02-T10 * * D6-5*9
SD25-SIR/L-16T SR20-M3.5*0.6P*11.5 KEY02-T10 Al16 SR55-M3*6 D6-5*9
SD32-SIR/L-16T SR20-M3.5*0.6P*11.5 KEY02-T10 Al16 SR55-M3*6 D6-5*11
SD32-SIR/L-22T SR20-M4*0.7P*15 KEY02-T15 Al22 SR55-M3*6 D6-5*11
SD40-SIR/L-16T SR20-M3.5*0.6P*11.5 KEY02-T10 Al16 SR55-M3*6 D6-5*11
SD40-SIR/L-22T SR20-M4*0.7P*15 KEY02-T15 Al22 SR55-M3*6 D6-5*11

A& BR:

@IIH' Insert

A/ Right/Left
IhEES Mark
1&HE2T73k Cartridge



>

2]
=
i
1=
7
=1

]
>
=
o
=
5]
=
o
o
=
«

|
/

B/ #EIIR

LR IE IR

CENTRE CALIBRATION BLOCK

§
Q
Z
S

>

@

= = N I I |
SRR E @! C
|
i
i
[ I \I_/\\'_/
LF H
BS KE ZEEER EE H 58
Model LF DCON DMIN KG
SDXZ16-25 14 25 28 22 0.05
SDXZ32-60 25 60 62 52 0.45




®
<5 O-N-W BB 1T A

'BEEW,?EJ]H'EFE ;E?éE DAMPING TOOL SLEEVE

A
— .E. L
:_ ___________
Ol *I ““““““ 2
|
L1l L
M%il D D1 d L L1 B2= KG
SD32-16-65 36 32 16 65 5
SD32-20-65 36 32 20 65 5}
SD32-20-85 38 32 20 85 5
SD40-16-75 44 40 16 75 5
SD40-20-75 44 40 20 75 5
SD40-20-105 46 40 20 105 5
SD40-25-75 44 40 25 75 5
SD40-25-105 46 40 25 105 5
SD40-32-128 50 40 32 128 5
SD50-20-125 56 50 20 125 5
SD50-25-125 56 50 25 125 5
SD50-32-128 60 50 32 128 5
SD50-40-160 60 50 40 160 5
SD60-32-128 70 60 32 128 5
SD60-40-160 70 60 40 160 5
SD60-50-200 70 60 50 200 5




DAMI:’lN_G ®
e T <5 O-N-W

“BEMATIEE  CONVERSION TOOL HOLDER

A

;|
i TWF n
H -fr——mmmm -
' il

DCON

DCON1

TREER

KE LF DCON

SD80-23-40R/L 23 80 40 37.5 70 0.3




<5 0-N-w®

-§E R T B

CONVERSION TOOL HOLDER

BEm#IIR

ST1001 SNIdWva

MISEAE >

]
/

| LF
DCONT
REEER REEER
DCON DCON1
SD80-20-20-40R 20 80 40 37.5 20 0.8
SD80-20-30-40R 20 80 40 37.5 30 1.1




DAMI:’|NG ®
A memEA €5 O-N-W
A B35 JIBE  CONVERSION TOOL HOLDER
|
é)r:?z LF
— l — —J 3 — —
g OAH H
\\ BE // 4 RADH
©) |
— DCON —
[ ) T
LPR
© © © |

SD80-20%20 80 37.5 40 20 38.5 20 77 56 0.7




®
<5 O-N-W BB 1T A

‘HSK63A-FMHC [HR R HRSEJIMH  Hske3A-FMHC DAMPING MILLING TOOL HOLDER

o
>
=
=
=
A}
=
o
o
I
n

A
i)
e

i
i
7]

B

]
/

#1& Model

HSK63A-FMHC16-150-D37 199 |150( 124 | 26 |17 | 63 | 40| 37 | 16 | 3.2 | 8 M8*1.25P 1
-200-D37 249 (200|174 | 26 [17| 63 |40 |37 | 16| 3.2 | 8 M8*1.25P 1
-250-D37 299 | 250|224 | 26 [17| 63 |40 |37 | 16| 3.2 | 8 M8*1.25P 1
-300-D37 349 |300| 274 | 26 (17| 63 | 40 | 37 |16 | 3.2 | 8 M8*1.25P 1
-350-D37 399 |350( 324 | 26 (17| 63 |40 |37 |16 | 3.2 | 8 M8*1.25P 1

=FMHC22-150-D47 200 (150|124 | 26 [17| 63 | 50 | 47 | 22 | 48 | 10 M10*1.25P 1
-200-D47 250 (200|174 | 26 [17| 63 | 50 | 47 | 22 | 4.8 | 10 M10*1.25P 1
=-250-D47 300 | 250|224 | 26 | 18| 63 | 50 | 47 | 22 | 4.8 | 10 M10*1.25P 1
-300-D47 350 |300| 274 | 26 | 18| 63 | 50 | 47 | 22 | 4.8 | 10 M10*1.25P 1
-350-D47 400 350|324 | 26 [18| 63 | 50 | 47 | 22 | 4.8 | 10 M10*1.25P 1
-400-D47 450 (400|374 | 26 [ 18| 63 | 50 | 47 | 22 | 4.8 | 10 M10*1.25P 1
=-450-D47 500 | 450|424 | 26 |18| 63 | 50 | 47 | 22 | 4.8 | 10 M10*1.25P 1
=500-D47 550 |500|474 | 26 |18| 63 | 50 | 47 | 22 | 48 | 10 M10*1.25P

—_

=-FMHC27-200-D60 252 | 200|174 | 26 | 20| 63 = 60 | 27 | 5.8 | 12 M12*1.75P 2
=-250-D60 302 (250|224 | 26 |[20| 63 | - | 60 | 27 | 5.8 | 12 M12*1.75P 2
-300-D60 352 (300|274 | 26 |20 63 | - | 60 | 27 | 5.8 | 12 M12*1.75P 2
-350-D60 402 350|324 | 26 |20 63 | - | 60| 27 | 5.8 | 12 M12*1.75P 2
=-400-D60 452 1400|374 | 26 |20 63 | - | 60| 27 | 5.8 | 12 M12*1.75P 2
=-450-D60 502 (450|424 | 26 [20| 63 | - | 60 | 27 | 5.8 | 12 M12*1.75P 2
-500-D60 552 (500|474 | 26 [20| 63 | = | 60 | 27 | 5.8 | 12 M12*1.75P 2
AL RE:
T ? @BFE’Z Diameter
L1 K E Length(L1)
& Bore diameter of cutter
e s Holdertype
$EARFZ T, Shank size



®
JE/E 7 T A <5 O-N-W

-HSKT100A-FMHC B i@ ¥R$8JJ#®  Hsk100A-FMHC DAMPING MILLING TOOL HOLDER

>

o
>
=
=
=
[}
-
o
o
=
n

2]
=
i
1=
7
=1

|
/

#1& Model L L1 L2 L3 L4 ] D1 D2 d K1 K2 Y EE KG
HSK100A-FMHC16-200-D37 267 200 | 171 ] 29 |17| 100 | 40 |37 |16 | 3.2 | 8 M8*1.25P

=-250-D37 317 250 | 221 |29 |17 | 100 | 40 |37 |16 | 3.2 | 8 M8*1.25P

-300-D37 367 300 (271 29 [ 17| 100 | 40 |37 |16 | 3.2 | 8 M8%1.25P

=350-D37 417 350 (32129 [17| 100 | 40 |37 |16 | 3.2 | 8 M8*1.25P

=FMHC22-200-D47 268 200 (171 29 | 18| 100 50 | 47 | 22 | 48 | 10 M10*1.25P

=250-D47 318 250 | 221 | 29 | 18| 100 50 | 47 | 22 | 48 | 10 M10*1.25P

-300-D47 368 300 | 271 | 29 | 18| 100 50 | 47 | 22 | 4.8 | 10 M10*1.25P

=-350-D47 418 350 | 321 29 |18 | 100 50 | 47 | 22 | 48 | 10 M10*1.25P

-400-D47 468 400 | 371 | 29 | 18| 100 50 | 47 | 22 | 48 | 10 M10*1.25P

=450-D47 518 450 | 421 | 29 | 18| 100 50 | 47 | 22 | 48 | 10 M10*1.25P

=500-D47 568 500 | 471 | 29 (18| 100 50 | 47 | 22 | 48 | 10 M10*1.25P

=550-D47 618 550 | 521 | 29 (18| 100 50 | 47 | 22 | 48 | 10 M10*1.25P

-600-D47 668 600 |571 | 29 |18 | 100 50 | 47 | 22 | 48 | 10 M10*1.25P

=-650-D47 718 650 | 621 | 29 |18 | 100 50 | 47 | 22 | 4.8 | 10 M10*1.25P

-700-D47 768 700 (671 | 29 |18 | 100 50 | 47 | 22 | 48 | 10 M10*1.25P

-250-D58 318 250 | 221 | 29 |18 | 100 62 | 58 | 22 | 4.8 | 10 M10*1.25P

=-300-D58 368 300 (271 29 |18 | 100 62 | 58 | 22 | 4.8 | 10 M10*1.25P

=350-D58 418 350 | 321 29 | 18| 100 62 | 58 | 22 | 4.8 | 10 M10*1.25P

=-400-D58 468 400 | 371 | 29 | 18| 100 62 | 58 | 22 | 4.8 | 10 M10*1.25P

-450-D58 518 450 | 421 | 29 | 18| 100 62 | 58 | 22 | 4.8 | 10 M10*1.25P

-500-D58 568 500 | 471 | 29 (18| 100 62 | 58 | 22 | 4.8 | 10 M10*1.25P

-550-D58 618 550 | 521 | 29 (18| 100 62 | 58 | 22 | 4.8 | 10 M10*1.25P

-600-D58 668 600 |571| 29 [ 18| 100 | 62 | 58 | 22 | 4.8 | 10 M10*1.25P

-650-D58 718 650 | 621 | 29 |18 | 100 62 | 58 | 22 | 48 | 10 M10*1.25P

-700-D58 768 700 | 671 | 29 | 18| 100 62 | 58 | 22 | 4.8 | 10 M10*1.25P

FAS 5 RE:
? %HEE Diameter
T L1 4 Length (L1)
[ E1E Bore diameter of cutter
EEfX S Holder type
$EIRAZ TR Shank size



®
<5 O-N-W BB 1T A

-HSKT100A-FMHC BB @ 3R$5JJ4®  Hsk100A-FMHC DAMPING MILLING TOOL HOLDER

o
>
=
=
=
A}
=
o
o
I
n

A
i)
e

i
i
7]

B

]
/

##& Model L L1 L2 L3 L4 D D1 D2 d K1 K2 M EE KG
HSK100A-FMHC27-250-D60 320 250 | 221 | 29 | 20| 100 78 | 60 | 27 | 5.8 | 12 M12*1.75P

=300-D60 370 300 | 271 29 | 20| 100 78 | 60 | 27 | 5.8 | 12 M12*1.75P
=350-D60 420 350 | 321 29 | 20| 100 78 | 60 | 27 | 5.8 | 12 M12*1.75P
=-400-D60 470 400 | 371 | 29 | 20| 100 78 | 60 | 27 | 5.8 | 12 M12*1.75P
-450-D60 520 450 | 421 | 29 | 20| 100 78 | 60 | 27 | 5.8 | 12 M12*1.75P
=-500-D60 570 500 | 471 | 29 (20| 100 78 | 60 | 27 | 5.8 | 12 M12*1.75P
=-550-D60 620 550 | 521 | 29 (20| 100 78 | 60 | 27 | 5.8 | 12 M12*1.75P
=-600-D60 670 600 | 571 | 29 | 20| 100 78 | 60 | 27 | 5.8 | 12 M12*1.75P
=-650-D60 720 650 | 621 | 29 | 20| 100 78 | 60 | 27 | 5.8 | 12 M12*1.75P
=700-D60 770 700 | 671 | 29 | 20| 100 78 | 60 | 27 | 5.8 | 12 M12*1.75P
=-250-D74 320 250 | 221 | 29 | 20| 100 78 | 74 | 27 | 5.8 | 12 M12*1.75P
-300-D74 370 300 | 271 | 29 | 20| 100 78 | 74 | 27 | 5.8 | 12 M12*1.75P
-350-D74 420 350 | 321 | 29 | 20| 100 78 | 74 | 27 | 5.8 | 12 M12*1.75P
-400-D74 470 400 | 371 | 29 | 20| 100 78 | 74 | 27 | 5.8 | 12 M12*1.75P
-450-D74 520 450 | 421 | 29 | 20| 100 78 | 74 | 27 | 5.8 | 12 M12*1.75P
=500-D74 570 500 | 471 | 29 (20| 100 78 | 74 | 27 | 5.8 | 12 M12*1.75P
=550-D74 620 550 | 521 | 29 (20| 100 78 | 74 | 27 | 5.8 | 12 M12*1.75P
=-600-D74 670 600 |571 | 29 | 20| 100 78 | 74 | 27 | 5.8 | 12 M12*1.75P
-650-D74 720 650 | 621 | 29 | 20| 100 78 | 74 | 27 | 5.8 | 12 M12*1.75P
-700-D74 770 700 | 671 | 29 | 20| 100 78 | 74 | 27 | 5.8 | 12 M12*1.75P
=-FMHC32-250-D80 322 250 | 221 | 29 | 22| 100 95 |80 |32 |68 | 14 M16*2.0P
-300-D80 372 300 | 271 | 29 | 22| 100 95 | 80|32 |68 | 14 M16*2.0P
=350-D80 422 350 | 321 29 | 22| 100 95 |80 |32 |68 | 14 M16*2.0P
=-400-D80 472 400 | 371 | 29 | 22| 100 95 |80 |32 |68 | 14 M16*2.0P
-450-D80 522 450 | 421 | 29 | 22| 100 95 |80 |32 |68 | 14 M16*2.0P
-500-D80 572 500 | 471 | 29 (22| 100 95 |80 |32 |68 | 14 M16*2.0P
=-550-D80 622 550 | 521 | 29 (22| 100 95 |80 |32 |68 | 14 M16*2.0P
-600-D80 672 600 |571 | 29 | 22| 100 95 |80 |32 |68 | 14 M16*2.0P
=-FMHC40-300-D90 375 300 | 271 29 | 25| 100 98 | 90 | 40 | 8.3 | 16 M16*2.0P
=-350-D90 425 350 | 321 | 29 | 25| 100 98 | 90 | 40 | 8.3 | 16 M16*2.0P
=-400-D90 475 400 | 371 | 29 | 25| 100 98 | 90 | 40 | 8.3 | 16 M16*2.0P
=-450-D90 525 450 | 421 | 29 | 25| 100 98 | 90 | 40 | 8.3 | 16 M16*2.0P
-500-D90 575 500 | 471 | 29 (25| 100 98 | 90 | 40 | 8.3 | 16 M16*2.0P
=550-D90 625 550 | 521 | 29 (25| 100 98 | 90 | 40 | 8.3 | 16 M16*2.0P
=-600-D90 675 600 | 571 | 29 | 25| 100 98 | 90 | 40 | 8.3 | 16 M16*2.0P

FA& I ER:
? %HE’Z Diameter
L1 KE Length(L1)
£ Bore diameter of cutter
BERS Holdertype
IR Shank size



A

S1001 ONIdWva

i 5 & RO

|
/

;..iI

#4E Model ) D D1 d M FIG FEEKG
HSK63A-CKC2-150-D25 182 | 150 | 124 26 31 6.62 | 63 25 14 M5*0.5P 1

=175-D25 207 | 175 | 149 26 31 6.62 | 63 25 14 M5*0.5P

=200-D25 232 | 200 | 174 26 31 6.62 | 63 25 14 M5*0.5P

-200-D32 232 | 200 | 174 26 35 8 63 32 18 M6*0.75P

-230-D32 262 | 230 | 204 26 35 63 32 18 M6*0.75P

8
-260-D32 292 | 260 | 234 26 35 8 63 32 18 M6*0.75P
=-300-D32 332 | 300 | 274 26 35 8 63 32 18 M6*0.75P

R (R O (RSN O U W U [ ) Y

-CKC4-235-D40 267 | 235 | 209 26 39 10 63 40 22 M8*0.75P

-275-D40 307 | 275 | 249 26 39 10 63 40 22 M8*0.75P 1

-315-D40 347 | 315 | 289 26 39 10 63 40 22 M8*0.75P 1

-350-D40 382 | 350 | 324 | 26 39 10 63 40 22 M8*0.75P 1

=-CKC5-315-D50 347 | 315 | 289 | 26 45 13 63 50 28 M10*1.0P 1

-350-D50 382 | 350 | 324 | 26 45 13 63 50 28 M10*1.0P

-400-D50 432 | 400 | 374 26 45 13 63 50 28 M10*1.0P

=-450-D50 482 | 450 | 424 26 45 13 63 50 28 M10*1.0P

=-500-D50 532 | 500 | 474 26 45 13 63 50 28 M10*1.0P

-CKC6-295-D63 327 | 295 | 269 26 55 16 63 63 36 M12*1.0P

-350-D63 382 | 350 | 324 26 55 16 63 63 36 M12*1.0P

-400-D63 432 | 400 | 374 26 55 16 63 63 36 M12*1.0P

-450-D63 482 | 450 | 424 26 55 16 63 63 36 M12*1.0P

NININININ|(= ===

-500-D63 532 | 500 | 474 | 26 55 16 63 63 36 M12*1.0P

MR EER:

% JJFFER Diameter
L1 Length(L1)
#O%EE Model number of connection
If

BE1X S Holder type
$EARFZ T, Shank size



®
<5 O-N-W BB 1T A

-HSKT100A-CKC f[HE I #R#E JI#  Hsk100A-CKC DAMPING BORING TOOL

JAN
iz
Fl6.1 B2
HEE: 1: 10 )ﬁkg
> \@'\W e
Em

) P .

o S 3

L2
L3

-
N

—
(&)

i

1
1
-

[T

L
L a ]
D1

1
|
P
Sogp
LT

=

#4E Model L5 D D1 d M FIG ZFE=EKG
HSK100A-CKC2-160-D25 210 | 160 | 131 29 31 6.62 | 100 | 25 14 M5*0.5P
-185-D25 235 | 185 | 156 29 31 6.62 | 100 | 25 14 M5*0.5P
=210-D25 260 | 2710 | 181 29 31 6.62 | 100 | 25 14 M5*0.5P
=250-D25 300 | 250 | 221 29 31 6.62 | 100 | 25 14 M5*0.5P
=-300-D25 350 | 300 | 271 29 31 6.62 | 100 | 25 14 M5*0.5P
=-CKC3-220-D32 270 | 220 | 191 29 35 8 100 32 18 M6*0.75P
=250-D32 300 | 250 | 221 29 35 8 100 32 18 M6*0.75P
=-280-D32 330 | 280 | 251 29 35 8 100 32 18 M6*0.75P
-300-D32 350 | 300 | 271 29 35 8 100 32 18 M6*0.75P
-350-D32 400 | 350 | 321 29 35 8 100 32 18 M6*0.75P
=CKC4-260-D40 310 | 260 | 231 29 39 10 100 | 40 22 M8*0.75P
=300-D40 350 | 300 | 271 29 39 10 100 | 40 22 M8*0.75P
-340-D40 390 | 340 | 311 29 39 10 100 | 40 22 M8*0.75P
-400-D40 450 | 400 | 371 29 39 10 100 | 40 22 M8*0.75P
=CKC5-310-D50 360 | 310 | 281 29 45 13 100 50 28 M10%1.0P
=355-D50 405 | 355 | 326 29 45 13 100 50 28 M10*1.0P
-400-D50 450 | 400 | 371 29 45 13 100 50 28 M10*1.0P
=-450-D50 500 | 450 | 421 29 45 13 100 50 28 M10*1.0P
=-500-D50 550 | 500 | 471 29 45 13 100 50 28 M10*1.0P
-600-D50 650 | 600 | 571 29 45 13 100 50 28 M10*1.0P
=-700-D50 750 | 700 | 671 29 45 13 100 50 28 M10%1.0P
=-CKC6-375-D63 425 | 375 | 346 29 55 16 100 | 63 36 M12*1.0P
-440-D63 490 | 440 | 411 29 55 16 100 | 63 36 M12*1.0P
-500-D63 550 | 500 | 471 29 55 16 100 | 63 36 M12*1.0P
-600-D63 650 | 600 | 571 29 55 16 100 | 63 36 M12*1.0P
-700-D63 750 | 700 | 671 29 55 16 100 | 63 36 M12*1.0P
=-CKC7-450-D100 500 | 450 | 421 29 60 | 19.1 | 100 | 90 46 M20*1.5P
=500-D100 550 | 500 | 471 29 60 | 19.1 | 100 | 90 46 M20*1.5P
=-600-D100 650 | 600 | 571 29 60 | 19.1 | 100 | 90 46 M20*1.5P
-700-D100 750 | 700 | 671 29 60 | 19.1 | 100 | 90 46 M20*1.5P

NINININ[= = mmaaaaaaaaaaa ] maaaaaaa = —

FA& 15 BR:
%FEE Diameter
L1 & Length (L1)
$£O%E Model number of connection
IHEE S Holder type
ETZ T Shank size



®
JE/E 7 T A <5 O-N-W

-HSKT100A-BSTC [HEREIRIEJIHW  Hski00A-BSTC DAMPING BORING TOOL

A
FE
S
2Rl
g i S
e o
/E\_ "2
i I REINES
it o o o
55 —
15 ~ 10
#H& Model L2 D BEE KG
HSK100A-BSTC-400 460 400 371 100
=450 510 450 421 100
=500 560 500 471 100
=600 660 600 571 100
=700 760 700 671 100
AL 152 AR:

E L1 K Length (L1)

IEE{X S Holder type
$EFRAZ T Shank size



®
<5 O-N-W BB 1T A

-HSK63A-SNER fERR R #Rk TR HSK63A-SNER DAMPING BORING TOOL

ST1001 SNIdWva

DESHAE 3

]
/

& Model D2 JiF5EE Range  ZEEKG
HSK63A-SNER25-180-D38 202 180 154 26 63 38 40 1-16 mm
=-230-D38 252 230 204 26 63 38 40 1-16 mm
=280-D38 302 280 254 26 63 38 40 1-16 mm
-330-D38 352 330 304 26 63 38 40 1-16 mm
-380-D38 402 380 354 26 63 38 40 1=-16 mm
-430-D38 452 430 404 26 63 38 40 1-16 mm
=500-D38 522 500 474 26 63 38 40 1-16 mm
-SNER32-180-D48 202 180 154 26 63 48 50 2-20 mm
-230-D48 252 230 204 26 63 48 50 2-20 mm
=-280-D48 302 280 254 26 63 48 50 2-20 mm
=330-D48 352 330 304 26 63 48 50 2-20 mm
-380-D48 402 380 354 26 63 48 50 2-20 mm
=-430-D48 452 430 404 26 63 48 50 2-20 mm
-500-D48 522 500 474 26 63 48 50 2-20 mm
FA& 15 A

E JI#FE 1R Diameter
L1 Length(L1)
&k A5 Collect model
&5

FFh Collect type ER
SRS T Shank size



5 O0-N-w®

HSK100A-SNER DAMPING BORING TOOL

>

S1001 ONIdWva

i 5 & RO

\|
/

##& Model D2 X#5EE Range EEKG
HSK100A-SNER25-230-D38 270 230 201 29 100 38 40 1-16 mm
-280-D38 320 280 251 29 100 38 40 1-16 mm
=-330-D38 370 330 301 29 100 38 40 1-16 mm
-380-D38 420 380 351 29 100 38 40 1-16 mm
=-430-D38 470 430 401 29 100 38 40 1-16 mm
-480-D38 520 480 451 29 100 38 40 1-16 mm
=-530-D38 570 530 501 29 100 38 40 1-16 mm
-600-D38 640 600 571 29 100 38 40 1-16 mm
=SNER32-230-D48 270 230 201 29 100 48 50 2-20 mm
-280-D48 320 280 251 29 100 48 50 2-20 mm
-330-D48 370 330 301 29 100 48 50 2-20 mm
-380-D48 420 380 351 29 100 48 50 2-20 mm
-430-D48 470 430 401 29 100 48 50 2-20 mm
-480-D48 520 480 451 29 100 48 50 2-20 mm
=-530-D48 570 530 501 29 100 48 50 2-20 mm
-580-D48 620 580 551 29 100 48 50 2-20 mm
=-630-D48 670 630 601 29 100 48 50 2-20 mm
-700-D48 740 700 671 29 100 48 50 2-20 mm
-SNER40-230-D58 270 230 201 29 100 58 63 2-26 mm
-280-D58 320 280 251 29 100 58 63 2-26 mm
-330-D58 370 330 301 29 100 58 63 2-26 mm
-380-D58 420 380 351 29 100 58 63 2-26 mm
-430-D58 470 430 401 29 100 58 63 2-26 mm
-480-D58 520 480 451 29 100 58 63 2-26 mm
-530-D58 570 530 501 29 100 58 63 2-26 mm
-580-D58 620 580 551 29 100 58 63 2-26 mm
-630-D58 670 630 601 29 100 58 63 2-26 mm
=-700-D58 740 700 671 29 100 58 63 2-26 mm
A& LRA:
@HHEE Diameter
L1 {E Length(L1)
A% & S Collect model
FEIFZFHSE Collect type ER
2T Shank size



<5 0-N-w®

-SBT40-FMHC [BB iR iR §k 7] 4R

JAN

iz

s

A2
Fig.1 %ES

-/E\-V\
Fig.2

L4 L2

##& Model DI D2 d KI K2 M Fig ZEEKG
SBT40-FMHC16-150-D37 | 232.4 (150 | 17 | 26 | 124 | 63 | 40 | 37 | 16 | 3.2 | 8 | M8*1.25P | 1
-200-D37 |282.4 [200| 17 | 26 | 174 | 63 | 40 | 37 | 16 | 3.2 | 8 | M8*1.25P | 1
-250-D37 |332.4 (250 | 17 | 26 | 224 | 63 | 40 | 37 | 16 | 3.2 | 8 | M8*1.25P | 1
8
8

=300-D37 |382.4 300 17 | 26 | 274 | 63 | 40 | 37 | 16 | 3.2 M8*1.25P 1
=350-D37 |432.4 350 17 | 26 | 324 | 63 | 40 | 37 | 16 | 3.2 M8*1.25P 1
-FMHC22-150-D47 | 233.4 |150| 18 | 26 | 124 | 63 | 50 | 47 | 22 | 4.8 | 10 | M10*1.25P | 1

-200-D47 | 283.4|200| 18 | 26 | 174 | 63 | 50 | 47 | 22 | 4.8 | 10 | M10*1.25P | 1
-250-D47 | 333.4|250| 18 | 26 | 224 | 63 | 50 | 47 | 22 | 4.8 | 10 | M10*1.25P | 1
-300-D47 |383.4|300| 18 | 26 | 274 | 63 | 50 | 47 | 22 | 48 | 10 | M10*1.25P | 1
-350-D47 |433.4|350| 18 | 26 | 324 | 63 | 50 | 47 | 22 | 4.8 | 10 | M10*1.25P | 1
-400-D47 | 483.4 |400| 18 | 26 | 374 | 63 | 50 | 47 | 22 | 48 | 10 | M10*1.25P | 1
-450-D47 | 533.4 |450| 18 | 26 | 424 | 63 | 50 | 47 | 22 | 48 | 10 | M10*1.25P | 1
-500-D47 | 583.4 |500| 18 | 26 | 474 | 63 | 50 | 47 | 22 | 48 | 10 | M10*1.25P | 1
=FMHC27-200-D60 | 283.4 | 200 | 20 | 26 | 174 | 63 = 60 | 27 | 5.8 | 12 | M12*1.75P | 2
=250-D60 | 333.4 [ 250 | 20 | 26 | 224 | 63 = 60 | 27 | 5.8 | 12 | M12*1.75P | 2
-300-D60 | 383.4 | 300 | 20 | 26 | 274 | 63 = 60 | 27 | 5.8 | 12 | M12*1.75P | 2
-350-D60 | 433.4 | 350 | 20 | 26 | 324 | 63 = 60 | 27 | 5.8 | 12 | M12*1.75P | 2
-400-D60 | 483.4 | 400 | 20 | 26 | 374 | 63 = 60 | 27 | 5.8 | 12 | M12*1.75P | 2
=450-D60 | 533.4 450 | 20 | 26 | 424 | 63 = 60 | 27 | 5.8 | 12 | M12*1.75P | 2
=500-D60 | 583.4 | 500 | 20 | 26 | 474 | 63 = 60 | 27 | 5.8 | 12 | M12*1.75P | 2
HUS 598

SBT40 8 - - - W
JIFFE R Diameter
L1 4E Length (L1)
£ E1Z Bore diameter of cutter
f)

IHREFLS Holder type
HEFRAZ T Shank size

g A42 L



>

o
>
=
=
=
[}
-
o
o
=
n

2]
=
i
1=
7
=1

|
/

B/ #EIIR

#1& Model

-SBT50-FMHC fBE iR iR §k 7] 4R

5 O0-N-w®

SBT50-FMHC DAMPING MILLING TOOL HOLDER

L2

K2
L]

SBT50-FMHC16-200-D37 318.8 | 200 | 17 |36.5(163.5/ 100 | 40 | 37 | 16 | 3.2 | 8 M8*1.25P
=250-D37 368.8 | 250 | 17 |36.5(213.5/100 | 40 | 37 | 16 | 3.2 | 8 M8*1.25P
-300-D37 418.8 | 300 | 17 |36.5(263.5/ 100 | 40 | 37 | 16 | 3.2 | 8 M8*1.25P
-350-D37 468.8 | 350 | 17 |36.5(313.5{100 | 40 | 37 | 16 | 3.2 | 8 M8*1.25P

=FMHC22-200-D47 319.8 | 400 | 18 |36.5[363.5| 100 | 50 | 47 | 22 | 48 | 10 M10*1.25P
=250-D47 369.8 | 450 | 18 |36.5[413.5| 100 | 50 | 47 | 22 | 48 | 10 M10*1.25P
-300-D47 419.8 | 500 | 18 |36.5|463.5| 100 | 50 | 47 | 22 | 48 | 10 M10*1.25P
-350-D47 469.8 | 350 | 18 |36.5(313.5/ 100 | 50 | 47 | 22 | 48 | 10 M10*1.25P
=-400-D47 519.8 | 400 | 18 |36.5[363.5| 100 | 50 | 47 | 22 | 48 | 10 M10*1.25P
=450-D47 569.8 | 450 | 18 |36.5[413.5| 100 | 50 | 47 | 22 | 48 | 10 M10*1.25P
=-500-D47 619.8 | 500 | 18 |36.5|463.5| 100 | 50 | 47 | 22 | 48 | 10 M10*1.25P
-550-D47 669.8 | 550 | 18 |36.5|513.5/ 100 | 50 | 47 | 22 | 48 | 10 M10*1.25P
=-600-D47 719.8 | 600 | 18 |36.5|563.5| 100 | 50 | 47 | 22 | 48 | 10 M10*1.25P
=-650-D47 769.8 | 650 | 18 |36.5|613.5/100 | 50 | 47 | 22 | 48 | 10 M10*1.25P
=-700-D47 819.8 | 700 | 18 |36.5|663.5| 100 | 50 | 47 | 22 | 48 | 10 M10*1.25P
-250-D58 369.8 | 250 | 18 |36.5[213.5|/ 100 | 62 | 58 | 22 | 48 | 10 M10*1.25P
=-300-D58 419.8 | 300 | 18 |36.5|263.5| 100 | 62 | 58 | 22 | 48 | 10 M10*1.25P
-350-D58 469.8 | 350 | 18 |36.5(313.5/ 100 | 62 | 58 | 22 | 48 | 10 M10*1.25P
-400-D58 519.8 | 400 | 18 |36.5[363.5| 100 | 62 | 58 | 22 | 4.8 | 10 M10*1.25P
-450-D58 569.8 | 450 | 18 |36.5[413.5|/ 100 | 62 | 58 | 22 | 48 | 10 M10*1.25P
=500-D58 619.8 | 500 | 18 |36.5|463.5| 100 | 62 | 58 | 22 | 48 | 10 M10*1.25P
-550-D58 669.8 | 550 | 18 |36.5|513.5| 100 | 62 | 58 | 22 | 48 | 10 M10*1.25P
-600-D58 719.8 | 600 | 18 |36.5|563.5| 100 | 62 | 58 | 22 | 48 | 10 M10*1.25P
-650-D58 769.8 | 650 | 18 |36.5|613.5/ 100 | 62 | 58 | 22 | 48 | 10 M10*1.25P
-700-D58 819.8 | 700 | 18 |36.5|663.5| 100 | 62 | 58 | 22 | 48 | 10 M10*1.25P

AL 5 RA:

SERFAZE Shank size

[0E%& Bore diameter of cutter

E JI¥FE1R Diameter
L1 E Length(L1)

T?%
IhBEfX S Holder type



5 O-N-w ®

-SBT50-FMHC fERR R IR $E TI 1R

o
>
=
=
=z
(9]
—
o
o
-
wn

A
i)
e

i
i
7]

B

]
/

##% Model L L1 L2 L3 L4 D D1 D2 d K1 K2 M BEEKG
SBT50-FMHC27-250-D58 371.8 | 250 | 20 |36.5(213.5| 100 | 62 | 58 | 27 | 5.8 | 12 M12*1.75P
-300-D58 421.8 | 300 | 20 |36.5]263.5| 100 | 62 | 58 | 27 | 5.8 | 12 M12*1.75P

-350-D58 471.8 | 350 | 20 |36.5[313.5| 100 | 62 | 58 | 27 | 5.8 | 12 M12*1.75P

-400-D58 521.8 | 400 | 20 |36.5|363.5| 100 | 62 | 58 | 27 | 5.8 | 12 M12*1.75P

-450-D58 571.8 | 450 | 20 |36.5|413.5| 100 | 62 | 58 | 27 | 5.8 | 12 M12*1.75P

-500-D58 621.8 | 500 | 20 |36.5(463.5| 100 | 62 | 58 | 27 | 5.8 | 12 M12*1.75P

-550-D58 671.8 | 550 | 20 |36.5(513.5| 100 | 62 | 58 | 27 | 5.8 | 12 M12*1.75P

-600-D58 721.8 | 600 | 20 |36.5(563.5| 100 | 62 | 58 | 27 | 5.8 | 12 M12*1.75P

-650-D58 771.8 | 650 | 20 |36.5(613.5| 100 | 62 | 58 | 27 | 5.8 | 12 M12*1.75P

-700-D58 821.8 | 700 | 20 |36.5(663.5| 100 | 62 | 58 | 27 | 5.8 | 12 M12*1.75P

-250-D74 371.8 | 250 | 20 |36.5(213.5|/100| 78 | 74 | 27 | 5.8 | 12 M12*1.75P

-300-D74 421.8 | 300 | 20 |36.5[263.5|100 | 78 | 74 | 27 | 5.8 | 12 M12*1.75P

-350-D74 471.8 | 350 | 20 |36.5(313.5| 100 | 78 | 74 | 27 | 5.8 | 12 M12*1.75P

-400-D74 521.8 | 400 | 20 |36.5|363.5| 100 | 78 | 74 | 27 | 5.8 | 12 M12*1.75P

=-450-D74 571.8 | 450 | 20 |36.5|413.5| 100 | 78 | 74 | 27 | 5.8 | 12 M12*1.75P

=500-D74 621.8 | 500 | 20 |36.5(463.5| 100 | 78 | 74 | 27 | 5.8 | 12 M12*1.75P

=550-D74 671.8 | 550 | 20 |36.5(513.5|100| 78 | 74 | 27 | 5.8 | 12 M12*1.75P

=-600-D74 721.8 | 600 | 20 |36.5(563.5|100| 78 | 74 | 27 | 5.8 | 12 M12*1.75P

=-650-D74 771.8 | 650 | 20 |36.5(613.5|100| 78 | 74 | 27 | 5.8 | 12 M12*1.75P

=-700-D74 821.8 | 700 | 20 |36.5(663.5| 100 | 78 | 74 | 27 | 5.8 | 12 M12*1.75P
=-FMHC32-250-D80 373.8 | 250 | 22 |36.5[213.5/100| 95 | 80 | 32 | 6.8 | 14 M16*2.0P
=300-D80 423.8 |300| 22 |36.5(|263.5/100| 95 | 80 | 32 | 6.8 | 14 M16*2.0P

-350-D80 473.8 {350 | 22 |36.5(313.5{100| 95 | 80 | 32 | 6.8 | 14 M16*2.0P

-400-D80 523.8 | 400 | 22 |36.5[363.5/100| 95 | 80 | 32 | 6.8 | 14 M16*2.0P

-450-D80 573.8 | 450 | 22 |36.5[413.5/100| 95 | 80 | 32 | 6.8 | 14 M16*2.0P

-500-D80 623.8 | 500 | 22 |36.5|463.5/ 100 | 95 | 80 | 32 | 6.8 | 14 M16*2.0P

-550-D80 673.8 | 550 | 22 |36.5|513.5[ 100 | 95 | 80 | 32 | 6.8 | 14 M16*2.0P

-600-D80 723.8 | 600 | 22 |36.5|563.5/ 100 | 95 | 80 | 32 | 6.8 | 14 M16*2.0P
=-FMHC40-300-D90 426.8 | 300 | 25 |36.5(|263.5/ 100 | 98 | 90 | 40 | 8.3 | 16 M16*2.0P
-350-D90 476.8 | 350 | 25 |36.5(313.5/ 100 | 98 | 90 | 40 | 8.3 | 16 M16*2.0P
-400-D90 526.8 | 400 | 25 |36.5[363.5|100 | 98 | 90 | 40 | 8.3 | 16 M16*2.0P
-450-D90 576.8 | 450 | 25 |36.5[413.5/100 | 98 | 90 | 40 | 8.3 | 16 M16*2.0P
-500-D90 626.8 | 500 | 25 |36.5|463.5/ 100 | 98 | 90 | 40 | 8.3 | 16 M16*2.0P
-550-D90 676.8 | 550 | 25 |36.5|513.5/ 100 | 98 | 90 | 40 | 8.3 | 16 M16*2.0P
=-600-D90 726.8 | 600 | 25 |36.5|563.5/ 100 | 98 | 90 | 40 | 8.3 | 16 M16*2.0P

FA& 5 ER:
? ®DHE% Diameter
L1 ¥ Length (L1)
£ Bore diameter of cutter
bR w=: Holdertype
$EARAZ T, Shank size



®
JE/E 7 T A <5 O-N-W

-SBT40-CKC [HfE iR ¥R $E JI 1k SBT40-CKC DAMPING BORING TOOL

A
g FR
% % D \@{\N
§ Jﬂ% \ 'EEEEEEELEEE T
8 — —® — —
L. y
L3 L2
L1
L
M& Model L2 L3 L4 L5 D DI d Y BE KG
SBT40-CKC2-150-D25 2154 | 150 | 124 | 26 | 6.62 | 31 | 63 | 25 | 14 M5*0.5P
-175-D25 240.4 | 175 | 149 | 26 | 6.62 | 31 | 63 | 25 | 14 M5*0.5P
-200-D25 265.4 | 200 | 174 | 26 | 6.62 | 31 | 63 | 25 | 14 M5*0.5P
-CKC3-200-D32 265.4 | 200 | 174 | 26 8 35 | 63 | 32 | 18 M6*0.75P
-230-D32 295.4 | 230 | 204 | 26 8 35 | 63 | 32 | 18 M6*0.75P
-260-D32 325.4 | 260 | 234 | 26 8 35 | 63 | 32 | 18 M6*0.75P
-300-D32 365.4 | 300 | 274 | 26 8 35 | 63 | 32 | 18 M6*0.75P
-CKC4-235-D40 300.4 | 235 | 209 | 26 | 10 | 39 | 63 | 40 | 22 M8*0.75P
-275-D40 340.4 | 275 | 249 | 26 | 10 | 39 | 63 | 40 | 22 M8*0.75P
-315-D40 380.4 | 315 | 289 | 26 | 10 | 39 | 63 | 40 | 22 M8*0.75P
-350-D40 4154 | 350 | 324 | 26 | 10 | 39 | 63 | 40 | 22 M8*0.75P
-CKC5-310-D50 375.4 | 310 | 284 | 26 | 13 | 45 | 63 | 50 | 28 M10*1.0P
-350-D50 4154 | 350 | 324 | 26 | 13 | 45 | 63 | 50 | 28 M10*1.0P
-400-D50 465.4 | 400 | 374 | 26 | 13 | 45 | 63 | 50 | 28 M10*1.0P
-450-D50 515.4 | 450 | 424 | 26 | 13 | 45 | 63 | 50 | 28 M10*1.0P
-500-D50 565.4 | 500 | 474 | 26 | 13 | 45 | 63 | 50 | 28 M10*1.0P
-CKC6-295-D63 360.4 | 295 | 269 | 26 | 16 | 55 | 63 | 63 | 36 M12*1.0P
-350-D63 4154 | 350 | 324 | 26 | 16 | 55 | 63 | 63 | 36 M12*1.0P
-400-D63 465.4 | 400 | 374 | 26 | 16 | 55 | 63 | 63 | 36 M12*1.0P
-450-D63 515.4 | 450 | 424 | 26 | 16 | 55 | 63 | 63 | 36 M12*1.0P
-500-D63 565.4 | 500 | 474 | 26 | 16 | 55 | 63 | 63 | 36 M12*1.0P

MR

= - -B- - @
JIF¥FE1% Diameter
L1 B Length (L)
I

% E Model number of connection
184X S Face mill holder type

ARSI, Shank size



®
<5 O-N-W BB 1T A

-SBT50-CKC [HfE iR ¥R $E J] 1k SBT50-CKC DAMPING BORING TOOL

ST1001 SNIdWva

MISiRAE >

]
/

;& Model
SBT50-CKC2-160-D25 261.8 160 123.5 | 36.5| 6.62 31 100 | 25 14 M5*0.5P
-185-D25 286.8 185 148.5 | 36.5 | 6.62 31 100 | 25 14 M5*0.5P
=210-D25 311.8 210 173.5 | 36.5| 6.62 31 100 | 25 14 M5*0.5P
=250-D25 351.8 250 213.5 | 36.5 | 6.62 31 100 | 25 14 M5%0.5P
=300-D25 401.8 300 263.5 | 36.5 | 6.62 31 100 | 25 14 M5*0.5P
-CKC3-220-D32 321.8 220 | 183.5 | 36.5 8 35 | 100 | 32 18 M6*0.75P
-250-D32 351.8 250 213.5 | 36.5 8 35 | 100 | 32 18 M6*0.75P
=-280-D32 381.8 280 243.5 | 36.5 8 35 | 100 | 32 18 M6*0.75P
=300-D32 401.8 300 263.5 | 36.5 8 35 | 100 | 32 18 M6*0.75P
=350-D32 451.8 350 313.5 | 36.5 8 35 | 100 | 32 18 M6*0.75P
-CKC4-260-D40 361.8 260 | 223.5 | 36.5 10 39 | 100 | 40 22 M8*0.75P
-300-D40 401.8 300 263.5 | 36.5 10 39 | 100 | 40 22 M8*0.75P
=340-D40 441.8 340 303.5 | 36.5 10 39 | 100 | 40 22 M8*0.75P
=-400-D40 501.8 400 363.5 | 36.5 10 39 | 100 | 40 22 M8%*0.75P
=CKC5-310-D50 411.8 310 273.5 | 36.5 13 45 | 100 | 50 28 M10*1.0P
-355-D50 456.8 355 318.5 | 36.5 13 45 | 100 | 50 28 M10*1.0P
-400-D50 501.8 400 363.5 | 36.5 13 45 | 100 | 50 28 M10*1.0P
-450-D50 551.8 450 | 413.5 | 36.5 13 45 | 100 | 50 28 M10*1.0P
=500-D50 601.8 500 | 463.5 | 36.5 13 45 | 100 | 50 28 M10*1.0P
=-600-D50 701.8 600 563.5 | 36.5 13 45 | 100 | 50 28 M10*1.0P
-700-D50 801.8 700 | 663.5 | 36.5 13 45 | 100 | 50 28 M10*1.0P
-CKC6-375-D63 476.8 375 338.5 | 36.5 16 55 | 100 | 63 36 M12*1.0P
-440-D63 541.8 440 | 403.5 | 36.5 16 55 | 100 | 63 36 M12*1.0P
-500-D63 601.8 500 | 463.5 | 36.5 16 55 | 100 | 63 36 M12*1.0P
-600-D63 701.8 600 563.5 | 36.5 16 55 | 100 | 63 36 M12*1.0P
=700-D63 801.8 700 663.5 | 36.5 16 55 | 100 | 63 36 M12*1.0P
=CKC7-450-D100 551.8 450 | 413.5 | 36.5| 19.1 60 | 100 | 90 46 M20*1.50P
-500-D100 601.8 500 | 463.5 | 36.5| 19.1 60 | 100 | 90 46 M20*1.50P
-600-D100 701.8 600 | 563.5 | 36.5| 19.1 60 | 100 | 90 46 M20*1.50P
=700-D100 801.8 700 663.5 | 36.5 | 19.1 60 | 100 | 90 46 M20*1.50P
AR RE:
T %HE& Diameter
L1 & Length (L)
#O$#E Model number of connection
IHEE S Face mill holder type
$#ARAZ T, Shank size



®
JE/E 7 T A <5 O-N-W

-SBT50-BSTC [ER i #=$E JJ4#R  sBT50-BSTC DAMPING BORING TOOL

>

]
>
=
o
=
5]
=
o
o
=
«

2]
=
i
1=
7
=1

995

|
/

##E& Model L2 L3 L4 D B=KG
SBT50-BSTC-400 501.8 400 101.8 36.5 363.5 100
-450 551.8 450 101.8 36.5 413.5 100
-500 601.8 500 101.8 36.5 463.5 100
=600 701.8 600 101.8 36.5 563.5 100
=700 801.8 700 101.8 36.5 663.5 100
FA& IR
? @_1 K Length (L1)
IHEEfLS Holder type
AR, Shank size




®
<5 O-N-W BB 1T A

-SBT40-SNER fHE R IR J] 1% SBT40-SNER DAMPING ANTI-VIBRATION TOOL HOLDER

o
>
=
=
=
A}
=
o
o
I
n

A
i)
e

i
i
7]

B

]
/

D1

|
o

L3 L2

#1& Model D2 F#5EE Range
SBT40-SNER25-180-D38 235.4 180 154 26 63 38 40 1-16 mm
-230-D38 285.4 230 204 26 63 38 40 1-16 mm
-280-D38 335.4 280 254 26 63 38 40 1-16 mm
=-330-D38 385.4 330 304 26 63 38 40 1-16 mm
-380-D38 435.4 380 354 26 63 38 40 1-16 mm
-430-D38 485.4 430 404 26 63 38 40 1-16 mm
-500-D38 555.4 500 474 26 63 38 40 1-16 mm
=SNER32-180-D48 235.4 180 154 26 63 48 50 2-20 mm
=230-D48 285.4 230 204 26 63 48 50 2-20 mm
-280-D48 335.4 280 254 26 63 48 50 2-20 mm
-330-D48 385.4 330 304 26 63 48 50 2-20 mm
-380-D48 435.4 380 354 26 63 48 50 2-20 mm
=-430-D48 485.4 430 404 26 63 48 50 2-20 mm
=500-D48 555.4 500 474 26 63 48 50 2-20 mm
FA&IER:

SBT40 @ - - - @
JI#FE 1R Diameter
L1 4 Length(L1)
B3RS Collect model
s Collect type ER
HEFRFZ T, shank size



®
JE/E 7 T A <5 O-N-W

-SBT50-SNER fHE R #x 7] #% SBT50-SNER DAMPING ANTI-VIBRATION TOOL HOLDER

>

o
>
=
=
=
[}
-
o
o
=
n

2]
=
i
1=
7
=1

|
/

|
s

L3 L2

#& Model D2 XF55EE Range
SBT50-SNER25-230-D38 321.8 230 193.5 | 36.5 100 38 40 1-16 mm
-280-D38 371.8 280 243.5 | 36.5 100 38 40 1-16 mm
=-330-D38 421.8 330 2935 | 36.5 100 38 40 1-16 mm
-380-D38 471.8 380 343.5 | 36.5 100 38 40 1-16 mm
-430-D38 521.8 430 393.5 | 36.5 100 38 40 1-16 mm
-480-D38 571.8 480 4435 | 36.5 100 38 40 1-16 mm
-530-D38 621.8 530 | 493.5 | 36.5 100 38 40 1-16 mm
-600-D38 691.8 600 563.5 | 36.5 100 38 40 1-16 mm
-SNER32-230-D48 321.8 230 193.5 | 36.5 100 48 50 2-20 mm
-280-D48 371.8 280 243.5 | 36.5 100 48 50 2-20 mm
=-330-D48 421.8 330 293.5 | 36.5 100 48 50 2-20 mm
-380-D48 471.8 380 343.5 | 36.5 100 48 50 2-20 mm
=430-D48 521.8 430 393.5 | 36.5 100 48 50 2-20 mm
-480-D48 571.8 480 4435 | 36.5 100 48 50 2-20 mm
-530-D48 621.8 530 | 493.5 | 36.5 100 48 50 2-20 mm
-580-D48 671.8 580 543.5 | 36.5 100 48 50 2-20 mm
-630-D48 721.8 630 593.5 | 36.5 100 48 50 2-20 mm
=700-D48 791.8 700 663.5 | 36.5 100 48 50 2-20 mm
=SNER40-230-D58 321.8 230 193.5 | 36.5 100 58 63 2-26 mm
-280-D58 371.8 280 243.5 | 36.5 100 58 63 2-26 mm
-330-D58 421.8 330 293.5 | 36.5 100 58 63 2-26 mm
-380-D58 471.8 380 343.5 | 36.5 100 58 63 2-26 mm
-430-D58 521.8 430 393.5 | 36.5 100 58 63 2-26 mm
-480-D58 571.8 480 4435 | 36.5 100 58 63 2-26 mm
-530-D58 621.8 530 4935 | 36.5 100 58 63 2-26 mm
-580-D58 671.8 580 543.5 | 36.5 100 58 63 2-26 mm
-630-D58 721.8 630 593.5 | 36.5 100 58 63 2-26 mm
-700-D58 791.8 700 663.5 | 36.5 100 58 63 2-26 mm

AR LRE:
T @Dﬁﬁﬁ Diameter
L1 Length(L1)
A% A S Collect model
B JeFhZE Collect type ER
$EARAZ T, Shank size



hARERE BIEN#%%  ALLRIGHTS RESERVED
FEmRETEE, HIMZSSHRTER, HUKYE, BARSTEN

PRODUCTS ARE IMPROVED CONTINUOUSLY, EVERYTHING IS IN ACCORDANCE WITH
PRACTICALITY UNDER CHANGED OUTINE AND PARAMETER, AND WITHOUT STILL FURTHER NOTICE.

LARRIERESIE T AR R AF

WAREFTHIKERRERESE T —BRXEL

EREE T4

TEL: 400-697-5558

E-mail: sales@ounuowei.com
ounuowei.1688.com
WWW.0ONWCNC.COM

SNRTHE T4

TEL: 0086 537 6598237

FAX: 0086 537 6598237

E-mail: md3rd@ounuowei.com
ounuowei.en.alibaba.com
WWwWw.ounuowei.com



